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CONVERSION TABLES CONVERSION TABLES



The table is based on a nomogram.
Roughness: K = 0.01 mm.
Water temperature : t = 10 Degree C

Head losses in plastic pipes
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The upper figures indicate the velocity of water in m/sec.
The lower figures indicate head loss in metres per 100 metres of straight pipes.

The table is calculated in accordance with H. Lang’s new formula a=0.02 and for a water temperature of 10 degree C.
The head loss in bends, slide valves, T-pieces and non-return valves is equivalent to the metres of straight pipes states 
in the last two lines of the table.
To find the head loss in foot valces, multiply the loss in T-pieces by two.

Head losses in ordinary water pipes




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58

